Z2HE A

[1] JI2 3

iy
U

ol
X

X
j J—
iy ® N =
R0 _ 2 5 &
= py mﬂ Ur ke e ol -
= o iy 5 30 =<
Al @ M 0 E!
pd S L
0 ]
0
~J
<
0 ne
) L T o 1AE
o | m | &0 mﬁ S | o | 4 ow T
SRR R 412 |03
E =l w ]S R R
E| w WS
=)
E
41D
A
2
= (W
S S % ° i 0
P = et Y B I - o
S| Y | R [F@| M | = w
N e | F A0 & | %0
= |Ar
o
3!
_)_l
or
=
— A IH ~
m — —
" < A\
Wl o | w0 |w | T o | = | =
T O R R I
mo| <k | > |8 | < | = U R A
iy Rl Rr =
N 20 0 <+
E]
|

o=
)
8
o103
.wMAT
aooin
i 2V
o
mF
B
S
] o
=
IRk}
__%uAI.‘_
0UaE
VR
e
ol
RS
5RO
oy
oD___o_ﬁ

gree
o) X
KSS

-
. —K0
__&m.xr

O_E% o]
_SW%
GO
aﬁmm
2016

oam&

R
u__O C._

ST 0]

ol~~<0
375 DKo
1ol /S KO o

1S 5700

:._m__._ud

S0
Afaﬂhmu$
AR =2t

=<
ToJ <M oIr TH
INNELU
O_Ezm_mﬁ
T
ot K
BT
AW
W=

I

o

oS
Ho e
R0o3Sr
=
Wma%
soony

=0|iE

~ ~
SHuic
BIHE S

00
o8

=

MRS U




g ¢gd

ar

<0
ol

=)
=
3]
~
ar
=
E
A
.m_ro —
& | 0
T
=
o
=
=
ol
or
=)
E
Ho
R
o | ==
- | 3 g
ni0
30 ar w0
a | |8
Q| & mn
® | e | D
W:u. (24
8l | 8r
t Kk— H__.%_\_

=)
X0
4D
ol

Py

ol

0
ar

o
2= [Zw |78 | o
AU m:”E =2 | v
i =ol | o R
5L |on |@= ot 5
—_— *
U 25 o [ % .
°n |xs |w | B
Wor (& . |wD ¢ |Y
il el . () xr
I R T E= i Y wo |
N S @
o = o T |
LS TR 11 g i
R
iz P e 3
My |35 |z™ o |=
S = i R W
2 56 [Cww|Sr [X L
) mﬁ__n. _ﬂm.%___ i) % JU LI
WO |zom™ |k ° o i
d_._,L% wamm Aa,ﬂ o < Ko Jlo
H N S A & 5 |
NCIRE ) =~ |~ ) gl
~ |Tusle= |© * |be
ms |uss|on 0 oM
.roo.; S B oo J
85 (uSm 5% |z =0t |5y
Qg o_o:n S0 ol B Hp___m_:
? 00| oy | Hz |20
o [RraTok(ondy (o o| S | o0t
mﬂma ED._NW < R <l w %Ewﬁ
=olS sl < <l |K~3
S 0 WD =
e o o|H 3D 0 |HO=KI
B D e I o e
37N | SR 30 SaT
ROBJ| 3ol . [—RMy o |oE
—al [—3ad
o | of
0_
B xr <
%_ s <Igk | <M [<10d
o | 5| d | Trowr| Xof [Fakd
2 %& %o |0
0 = =K
I N el
st | o™ !
5 IR il
7l
5 M_ a | 30
ul_m - = = =0
oF e &l TG
15 _ﬂ il a1 sl B
Wo| R RO
Mol
SIEK
=nl
==
o M___mu_
< o
3 1o
H_I ol m
3 i IS
=
o A0
i alaK
0
ar o
]l 1)
< Ao
&)

[3] & & FE

fill

{0
ol
<+
E|

)
N
Ea)
o
3
~
ul
O 0
mw o0
=8 Ho
1 =
30 o|_=_
v Gl
] =
Al 2
i)
a mm 1o
Mw_ m_. ol
fl
i r o]
=<
m OF
I :
w0 :
2 z
=<
- =
2
2 Al
5 o
4 of
. 0
0 ol wr
ol L i
& 5] K-
2 = =
— ok i
o ol H |
] n0 H
e + o101
o kY AORO
i [
_u 5
el 0 g
5 80 =
. o 2 B == o8| | <
A R HHHERE
Ea] oK | o = W | &
HE | Mg i
_ ol 2 I : Em -
Aﬁmg | K :
o H 2 5 5 2| é
<+ h o | B
K- i .
i I+




il
0

A0

{[D
ilor

wl |
= =
M IS¢l
H ) I+
w| [0 =
=
1|
. | w0 AR -
z K W 00 Jo
— | . bip) X | X | - -
HNEIIE R o RI pp. 0 | 80
=iy ElY B | sl W
n ¢ an | oD Rll 7, B0| &3
AU BT I T Rr30T| Lo
=l=|=10 | A=
B | = |2 | g | T omTom| 2
Fl || 5 | B S
—_ 0 - =20 | il
Z = | | ™ = MH = =
Kl s - Flx< | < N_. Ik __LOI_.%
| = |W PEREEREE & K== =
~ XX |on| o0 | = |00 |[wrAN| =
il Al Al _|J,||_ KO Lo Kk
[} =
= T
Y < o
B A = gl
0 m/w 50 < o7
ar ~ = o
20 A % ol
= 3
ol _ %0 <J
= |
| | oKl = o
- Hrm M__._ __z_nal -
G s wwl| —  |wr
1| S | &0 = Ho| ;
= | <A BN = |F
30 N I I ==
F R T =) S5l & m
R N L TR
o NN TS o0
| |3 NN E
S| = I O [T il
5|8 S IRN IR =t B
ms il B IV I B B 5 e R 1T
| K| Ko | = | & [<F ol IH=
<+
£ -
st| |2 < |z | _w
T R =l H || KI = i
S| |SIm (W |~ a3 || =
= 4D A il
U=._ mm_l __o_|

= &

-

g Al

Kk

0
0
=
i
N
ol
)
%0
30
%0 )
- . ()
o O ioJ
A i) s
o S S
= 5
7o) oo =
= R01o0J =
o) - s =
80 ﬂ__w £l
S0 . mEo 70
e wm ¥
= 110. (e} wm)
W,__.on = a_\w il E]
-5 pd 70
._M_ﬂ_lno o a0 __Lg.n gl
JoR BOFg i o
—o w0 - — ~
N ® o ww o o
E%HT g7 ¥ o3 U % H
%Hum R T0 O - T
W |gollmwior| S| 4D | ROBD|AD . s R 4D
2] o 3 ey L o 2 NS .
<] mhBg| << ol L] =10 ol h o |0 ) ol
= =og| oM ofu oTrl [oTRITr| o X |50 o
H |[6Ik="| 23RO = i Z0RD |ROTNIH = =0 |2 %roeT =
2 |o_Blmol = o b
M E=E B K ™ | otor |ototoT| ok T o (e ok
B W — 14| o0 oT or Arar | Ar oT or dr o |RORo 51
8 (oTASROFER| 2 | BIR |RIRIR 2 | o
RO 803D % 8030803 n | 5050 |B0B0BO n o1 % (P O
o |RRCR|RRN | < 30 | ®OR0 |RomOmO| <k al R |a3dS| <k
~ I = I IR E 0 o o E] ) I o E
= [# 040 W = I# 040 W = I3 040 W
Kk or = mol_x__%_ KF or = mol_xaa KF ar = mol_x__%_
[m] [w] [m)
31 30 31 s | @ 3D 31 3 = | @ 31 ! I
<+ <k <k < EO <k <k <k <F ® <k <k <k < EO
=3 =4 =4
Kk Kk KF
— Al (ep]




ol

ol
<+

-

i
KH

Ck.

i0J O
= i)
> s
an (@]
i s
= i
. ir =5
) ) I
i0. = 10 N
© ro 1) o
© el 6 20
5 oF ~ W
s i iy Ok =
5 < o Uz T
ok o TR = ~
I o il BB s | ™
Iy Z > ~ |oF ° L
N 0 R I 1%} |=E N = i0J
0 .Emu 1 Z |53 = ) 3
8 R owlgt| % o SEn |, < o =
I i WEo | W r = 5% = w |
- © Lol o T G = =
m o) ° = CED| O W™ o |FHERI|E B {1 {1
oF ! o B | W0 B 20 |yl KE [z 0050 or or
=l _ S o e S I = A AN - T — —
O B wr | oo jotaker| @ | o [Z23B] | B oot AL oT ) A o | o
1H o ~ ol zl ol S RJio __ao“___a ol M (R |<RMa ol = =
¥ |odaoor o of |OodkwGT o o [RIOUIH [®I00 T 00 i ~ |H22 (eTarL o = =
70 [T =g =) = oF K- [KF®omir =4 B |oH == |oF/mloT il = H |go==|_g= =3 [=4 [=4
8 0| - o | = || - (=G LI N _ go | Werjor W KE | K-
o+ w____ mo__uo_.m_ ok =) ol [olol ™~ ok o oI.OTo____ ol_o____o_.o____ ok D R LI ok ~ N~
= Al a0 a1 0 Al [AroFor a1 3 |OFOFUHO [oR<Iu™" <l ol = [Wrarar (<< aT e z
Rl [ototar| 2 RI[RIFOF| 2 o |okmiEm|OFXEIZ| 3 o RRR|=AR 2 = = = =
or | @ |aaw| o | @ |oomE| ° OF |coBUaD |[CoRBUR| R|SOHM|HHK| " A2 ]2 5
& | R [RAE| <k o | R0 |RomORO| <k W |DR~|DARS| < B0 |RORORO |RORORO | <F S A aD
~ I o E] ~ | o E =] N R E] 0 T E] Kt — — L
= =] a0 | m oW | = B W | ®m oW | = =] 0f0 mow | = =] 0 | B W | = 4 W | 3 W
KF or = D0 _ il Kr or = 0 _ il KF or = 0 _ il Kk ar ) D0 _ il KF or = 20 _ il
ok ok ok ok ok
31 30 3 @ A | a 31 31 s | @ 30 ! 3N | @ 31 30 N | a 31 1 3N
S O O NGO N IR ST IR N IR IR S R I e O I e AR I O A e R AR
=3 >4 =4 =3 =3
K KF K- K- KF
<t Yo} © [ (e}




ol

ol
<+

-

i
KH

5
o
RO
0 O
R0 o)
5 ©
= o
i =
o iof o
. s Qi
o . 5 o R
i0J Dl Dl |_H, s
wm _Lu\_ = o____ __o._ .1m _Jl_
=) o ioJ hrs) RO
S = = RO © Gl
_ S s O ° bt
B S oz o rr K
c0 M . B ) i<
Mﬁm -0 wﬂ.ol_ Bl h ol
A% = SHI o0 or U
05 N5 I K 80
=T Ol LIS il S <0 _ Kt R0 _M
5 =IO zron® | % E |5 © B
v Rrol REOW™ | wr 5 |O ol ©B
RIR i i )= | ) - w0 ~ o
— RIR RIRIH0RS| Wi < B 3
ROt ATH Awrms| T 2 [5.3 5 =
ort =Ly Surme| i G 5 K
o #r RO 4 = R3] L® = |mZ 5 Rl
mel | ® S| BE g . B 5 |wEr = 5w @
o ifs A it Vs = (] I
MU | OFKAKr BRI [oFKA00 . 5 |[morw . = B2 =l x| O
s [T L R | ol 3 wgs| W 0 2l &
olol | R N U = - < = = i
. oo |goa pl olol |oTatol ™ 4 K |oTol WE ge: <D - Do &= <D N S
a W (W ol == [==== ol == - == m = =5 —~= 0K |M) oD Kl {0
& == |=== o = T |ozza = |33 " iof = (o330 Ul fof s |= 0 5 it
§ |55 [som| W = | 55 |E5EE| w = 3305|835 | W 2 |oor=|FLrol o e e
s (B R < | B 55 lasss K| B Songag = | x (e |@Sas,l & | w o ja e ST
) SIS i = — Si=s Sk = by [ [ty R (g, ~ < < <0<
B R2RRR| g R Wil it N I U U S O - 505 50150 O I ey
5 RIRT RIRIRI 5 = A AR b M.AIH.AIOl_._m/_.o MT_.O b n_.: =tn— |ohn=TTn— ﬂ ._._Auo o_.A o_.A o_.Ao_.A ol
ol =z lzzz| W Al | mrar |mrarErEr| N = Bl s R0 W BRI R0OT <o) & 55| oo | =
=z | om |meE| < B REIE R ETETETE] I m Ewmwﬂm mwm I Rl A e B
= | RR R L A A AR 4 i ~R| R | < = | TS| < i |Ewe| Ee | 4
| A | [ _IW_ _A|_ I | I B B | m_ ﬂAln_ _Wﬁm_ [ m
= (B 00 W = By 00 o = =
L I = A O L 5| W | R o 2R N5 | o v Dow R E DB
A A e N IR B R I I
£ 00 S RS I I AV ol || ow
=4 >4 >4 [ <
Kk xO_. K- _ﬁ _Tﬂ
— [aV] o™




ol

ol
<+

-

i
KH

OI0IE (Big Data)

ol

—

t

BXIs(Al)

oJ

i)

-
[[s}

bl D1y 22

oo

- Alet 2lHoIe2 J12 HgE 0l

i)

-
[[s}

o

A
=

25 HEEY D

Clil Ol & 2t

gl
=

9FXH0IA 14=XtNHKI 2

=0
ol

Stig WS

9F X0l A 142=XEDHKI 2]

2 =Xl

<+

[a
oir

ol
3+

0ir

ol
<+

=g Us

00

_Iu_
K0

ulo
00
B
=
OF
H
ki ulo
iy 0
) )
m | il
OF | .- 20
o | K .
=
E K
Houlo o 5
—_—
atal Mo o
_.Cu_ DD = —_—
B = <
vy = 00
vl N R
- = N
= = zﬂo
it R =
e K0 =
S 3l 70
OO O —_
ROROR oll =<
ArAr il )
SRR = W
P
Al
T ET! ~
Uk A & 0
IH ar = -
~0 =l
0
=




